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1. Match the words with the pictures. ‘j

1. violin ©

2.lion o l
I
\
(
I‘

3. orange o o)

2. Shade the correct picture for the sentence. |
1.Itis a hut.

3x2=6

3x2=6
3.1tisa nib.

@)

3. Fill in the blanks with These / Those.

1. are cars f? |
2.. are drums. [@'
3.

are carrots. [Lﬂj——'

4. Circle the odd one and write it in the blank.

1. lion tiger apple fox
2. bus book car ; auto
: , 7
3. carrot potato onion . bicycle
5. Fill in the missing ietters.
2. v__ l _a 3.
b

3x2=6
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‘ 3x2=6
6. Complete the sentences using He / Shqe /It _

i
L 1A R iR
1. This is Varun. has an aPPI‘?- ‘*'j

o

2. That is a crow. _ is on the tr::e. 4’_&
3. This is Selvi. plays the guitar. @i’a

7. Choose and write the correct sentence for the picture.
‘ 2. oy 0. Mala feels happy.
ﬁd‘ b. Mala feels hungry.

&~

3x2=6

1. a. Raja plays the flute.
ﬂ b. Raja plays the guitar.
\

-

3. % a. Sam goes to school by bus.}

b. Sam goes to school by bicy%le.
|

8. Rewrite the sentence correctly using the picture clues. 3x2=6

1 %‘ Rani sees an owl.
NN - s

]

| The auto has two whe%els.

1

¢ i :
3. : Geetha smells with he} mouth.
B i S

9. Rearrange the words and frame sente_jnces. ' | ‘ 3x2=6
1. orange / She / ate / an ' l
_ |
- K
2. kite /plays / a / John / with

3.hat/ The /has/cat/a

10. Choose and write the correct answer. 3x2=6

1. Malar sees with her : tongue

2. Abdul tastes with his |, |nose
eyes

3. Rosy smells with her

b
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